X RFARSHMFRE
Air Chuck

TMHZ(910~932) Series

v
=
=
<<
=
=)
L
=
a

How To Order (B! SRR F5%)

TMHZ 10 - RS2 - M
[ I [ : I_,

’ Bore Auto Switch Mounting Bracket
*-3_7_.__ ' FL1E HEMEFF R REXHE
- Nil(=)[None (T #EEFF ) Nil(Z=)] None (% 28)
10,16,20,25,32 RS1 | Switch 1EAGIEFF £1R M_| M Type Bracket (W& %2)
RS2 | Switch 2EA(1EFF%X23) B | B Type Bracket (B 3 %2)

Specification (FL 4% )

Bore(H %) g10 [ @16 | @20 | @25 | @32
Fluid(Fif) Air(=5
Action(F{EFR) Double Acting(X 1)
Pressure Range (£ i £ 735E ) 0.15~0.7Mpa
Amb. Temp(FE R AR E) 0~+60°C(RELE)
Max. Operation Frequency(& & ZI{ESZ) 1003%/5r 44

. Cylinder(S#I) NotRequired(© £ E)
Lubrication(GEi&) - - — - e

Lever Section(JlV &) Required ( Apply Lubricating Oil )(¥k;@i8 H)

Length Of Max. Gripping Point(F AJVE < E)(L) 30 40 60 70 85
Lever Open/ Close Angles(3& JINFF X 1TF2)(mm) 4 8 12 14 16
Theoretical Holding Force | Closed Side(FFl) 0.8 2.4 4.7 7.5 10
(3Bis 4% 7146) (M) (Kgf-cm) | Opened Side(FM) 05 1.8 3.5 6.0 8.5
Pipe Size(##& 0O &) M3X0.5 M5X0.8

Internal Structure (RIERLEHT) Gripping Force Characteristic(3 # 1745 14 )

€
‘ | g TMHZ10
I 2~ -
—‘ | 5| 20 T T T T
| = K ﬁ Pressure : Kgffcm?
i @ H 2& #£15
s e 2F I
H =
AR
414 2l 810 :\6
| Q= K] 15
& | B Y I = R
R i £ 5
ki ‘ 5 5 S N A
+ = \\
Fs 5 — 1| 2
F C7- F 0 10 20 30 40 50
\" ” Length of gripping point(## ) L mm
TMHZ16 TMHZ20 TMHZ25 TMHZ32
Z 50 T T T T z =z z
100
ﬁ w0 Pressure : Kgf/cm? ﬁ 60 —_—1 6 ﬁ 90 -&\ 120 =
i i %0 =— 5 i 80 =] 5 i
%‘1 30 =6 % 40 7 % 0 5 %‘1 5
oy - Iy o 60 S —— o 80 4
I I © 30 3—] S 50 —4— I
S 20— i S S a0 3—{ & 3
= o 20 2— o 30 — 2 40
£ 10 3 £ £ 20 2 g_ 2
a a | . 2 a |
= — 2 = 10 [puligresstiefRaten] 2 10 [~ Pressure : Kgficm? 2 20 Pressure : Kgf/cm ®
15 ] | | ! ] ! ! 15 Lo
0 10 20 30 40 50 60 0 20 40 60 80 0 20 40 60 80 100 0 20 40 60 80 100 120
Length of gripping point(383F4) L mm Length of gripping point(3B# &) L mm Length of gripping point(3E# &) L mm Length of gripping point(3B#F &) L mm

Please contract us on any small problem and details.
FIFANE U RERE, FEESAARKE.

$TEDETE 1173




v
=
'_
<
=
=)
wl
=
o

X RFRARSHMFRE
Air Chuck

TMHZ(910~932) Series

Effective Gripping Force(& 3 k¥ 1)

Mounting Type ( £ AR )

1. Use the thread in the bottom({ F JE SREVIRLIFL)

3. Use M type Mounting bracket in the bottom.

( TERREBE AMEBLREEE E)

=)

Mounting Bracket ( &% % %8 )

Bore size The smallest Thread Port Effective Gripping Force
(1 #2)(mm) operating pressure (F45184770) (mm) (T ) KN
- (& IMRAETE F7)(Mpa) HARZ 3% H7)Kaf(N)
10 0.22 4 - M3x0.5P Open(F) 0.5 (4.9)
° ' “M3x0S Close(H]) 0.8(7.8)
216 0.1 4 - M3x0.5P Open(7) 18 (17.6)
Close(H]) 2.4 (23.5)
o . .
@20 0.1 4 - M4x0.7P Pen(#) 3.5 (34.3)
Close(i]) 4.7 (46)
o
@25 0.1 4 - M5x0.8P pen() 6.0 (58.8)
Close(i) 7.5(735) | 0.5Mpa.
o
@32 0.1 4 - M6x1.0P Pen(??) 8.5 (83.3)
Close(i]) 10.0 (98)

2. Use the thread in the side of body(f§ Fi Z< {4l T AU SR L FL)

4. Use B type Mounting bracket in the bottom.
( EREMEMABRREEEE )

LH_

—

T T

Pin hole positioning

(RE

Side figure (il & &)

® M type Mounting bracke ( Suitable for internal mounting ) (MRl 2 X ¥ R GERATRERBEEFEH))

@ B type Mounting bracke ( Suitable for external mounting (BRI 2z & ¥ 8 GE B F4NEE EFEH))

Model 20K
(mey |A|B|C|D|E|F|G|[H|I|J][K S
M10 10 [ 10| 2 | 8 |12 |11 [ 23 |17 | 10 | 16 | 35 j
2o 48
M16 15 | 15 | 3 |10 | 16 | 17 [ 34 | 26 | 14 | 22 | 45
~
M20 15 | 15 | 3 | 10 | 18 |21 | 45 | 35 | 16 | 26 | 55 | "
M25 25 |17 | 5 | 14 | 26 | 26 | 52 | 40 | 20 | 32 | 6.6 G
M32 25 |20 | 6 | 16 |30 | 34 | 60 | 46 | 26 | 40 | 6.6

Bl lalB|cCc|D|E F G|H| ]| J|K]|L

B10 4 15 10 5 - M3 x 0.5p 1" 23 17 10 16 3.5

B16 6 205 | 16 5 6 M4 x 0.7p 17 34 26 14 22 4.5

B20 8 205 | 20 7 7 M4 x 0.7p 21 45 35 16 26 55 T |
B25 10 | 305 | 25 8 10 M4 x 0.7p 26 52 40 20 32 6.5 Q‘C
B32 12 | 405 | 32 10 15 M4 x 0.7p 34 60 46 26 40 6.5 'L

Note: The gripping force is the force of open
and close gripper which is in the length of
gripping pointis 30mm and acting pressure is

A REHNDRMEESKE H3Omm, SHEEDR
0. 5Mpaff, FEMHKRZERT.

1.174 pTECITE




X RFARSHMFRE
Air Chuck

TMHZ(910~932) Series

Dimensions(mm)(4MER ~HEI(ZK))

TMHZ10 TMHZ10-RS2

[ IS m——

2.5 MAX.

2-M3x0.5P dp 5

4-M3x0.5P
Finger mounting hole Mounting hole
FEEE (&R=AD

2-M3x0.5P dp 5

2-M3x0.5P dp 7
Mounting hole Mounting hole
CEER) @£
0 I
A%

) &
I I
| S
28 e | o ] ~ o
el - A
e - > & Py
< fi
20 211 dp 1.3 10
13 45 16
58
2-M3x0.5P 7.5
Piping port(i# i S 7L)

Dimensions(mm)(¥MiZ R ~HE
TMHZ16 TMHZ16-RS2
[SIISE —T—

2-M4x0.7P dp 7 21 2.5 MAX

4-M3x0.5P
Finger mounting hole Mounting hole
(FiEET (RE)

2-M4x0.7P dp 7
Mounting hole

2-M4x0.7P dp 11

Mountjng hole
. (&R (R %7
o[ > %

3 ¢ 4 |
88 ——{—m—— - - g 3
3|a © A

|

255 @175 dp 1.6
15 58.5
73.5

2-M5x0.8P 7.5

Piping port(i# i 5 L)

o
003

1

3 8 25.5
HTETTE 1175

v
=
=
<<
=
=)
L
=
a




X RFRARSHMFRE
Air Chuck

TMHZ(910~932) Series

PNEUMATICS

Dimensions(mm)(4MER

TMHZ20 TMHZ20-RS2

(S = ) —f——}
4-M4x0.7P 2-M5x0.8P dp 8 22 2.5 MAX
Finger mounting hole Mounting hole
(FigEEF (R%E7FD
2-M5x0.8P dp 13 2-M5x0.8P dp 8
Mounting hole Mounting hole
o (RERD (RE7L
© [T .
| LR &
g 2 &
sl 2 g 2
TN ‘é)
3| o L - L
© ] < 2
| |
28 @217 dp 1.6
19 69.5 26
88.5
2-M5x0.8P 8
Piping port(#H S 7L)

Dimensions(mm)(4MER

TMHZ25 TMHZ25-RS2
[SIT=D ——
4-M5x0.8P 2-M6x1.0P dp 10 24.5 2.5 MAX
Finger mounting hole Mounting hole
(FigEET (RETF
2-M6x1.0P dp 16 2-M6x1.0P dp 10
Mounting hole Mounting hole
o (RBREA (RE7F
© [T 1 , %}
=~ o @ @
1E +
Q|0
o -8 g o
B &
| | @ |
© [ <
o
31.5 @26 5% dp 2.1
24 79.5 32
103.5
2-M5x0.8P 9
Piping port(i# 5 5 7L) ‘
8 oo]
= -
5 12 31

1.176 pTECITE




X RFARSHMFRE
Air Chuck

v
=
=
<<
=
=)
L
=
a

TMHZ(910~932) Series

Dimensions(mm)(4MER ~HEI(ZK))

TMHZ32 TMHZ32-RS2
| © Bl o=
N
4-M6x1.0P 2-M6x1.0P dp 10 30 ‘ 2.5 MAX
Finger mounting hole Mounting hole
(FHRE=ZEFL (R#EFD)
2-M6x1.0P dp 16 2-M6x1.0P dp 10
Mounting hole
L (REA
) [T & b
PPN I I !
sis 3
ols o8
©| L ' PN b
o [T @ %1
| |
37.5
31 88 40
19
2-M5x0.8P 10

Piping port(i#H S 7l)

$TETE 1177




	页 1
	页 2
	页 3
	页 4
	页 5

